2.3 Conditional Statements Guided Notes Name:

efinition of Conditional Statements:
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Example I: State the hypothesis and the conclusion.

.If you are a brunette, then you have brown hair.
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Hypothesis: YOw- rt. abnunetic
Conclusion: ‘00“_ ho\la. brOA)r\ ka.ar

Statements can be written as Conditional Statements:
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.Example 2: Write a conditional statement Example 3: Write a conditional statement.
Statement: Vertical angles are congruent. Statement: Two angles that form a linear
- .

pair will be supplementary.

Conditional Statement: Conditional Statement:
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Find a counter example to prove the statement is false.
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Example: If x%= 81, then x must equal 9. If & A and &B are complementary, then
m &A=50° and m¢ B=40°.
Counter example: ' Counter example:

X=-9 (prowes ’t‘* mLA=e0
3 folse) | el =50
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Example 6: Write the converse, inverse, and contrapositive then find the truth value for each statement. If
appropriate, then write the biconditional statement.

o ang e argte O
If an angle is 90°, then it js a right angle.
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